gen vqgs rutgers.F90

Toward keeping full control of your vertical grid refinment
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New « gen_vqs_rutgers.F90 »

* Using ROMS/Rutgers ‘famous’ vertical
streching function in combination with
LSC?

* May be more straightforward in
setting the vertical grid refinment ???

Please try yourself !

and compare with
https://www.myroms.org/wiki/Vertical
S-coordinate
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After using the updated gen_vqgs code with three

Rutgers vertical stretching functions (New
gen_VQS_Rutgers.F90)

Temperature is patchy at surface ? ... likely due to lower vertical grid resolution at surface, a
consequence of the LSC2 design with actual vertical stretching functions or my misusing of
the sigma coodinates functions in “gen_vqs.f90” perhaps ....

Shallow Deep Shallow Deep

| control the vertical stretching
both in shallow and deep area.
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